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INSTRUCTIONS TO CANDIDATES

Please check the Test Booklet immediately on |1.

opening and ensure that it contains all the 150
multiple choice questions printed on it.

Separate Optical Mark Reader (OMR) Answer Sheet
Is supplied to you. The OMR Answer Sheet contains

Hall Ticket Number, Paper Code, Booklet Series,
Venue Code, Signature of the Candidate and
Invigilator etc.

If there is any defect In the Question Paper Booklet
or OMR Answer Sheet, please ask the Invigilator

for replacement.

Since the answer sheets are to be scanned (valued)
with Optical Mark Scanner system, the candidates
have to USE BALL POINT PEN (BLUE/BLACK) ONLY
for filling the relevant blocks in the OMR Sheet
including bubbling the answers. Bubbling with
Pencil/Ink Pen/ Gel Pen Is not permitted in the
examination.

. The Test Booklet is printed in four {4) Series, viz.

AorBorCorD. The Series AorBorCorDis
printed on the right-hand corner of the cover page
of the Test Booklet. Mark your Test Booklet Series
on side 1 of the OMR Answer Sheet by darkening
the appropriate circles with Blue/Black Ball Point
Pen.

Example to fill up the Booklet Serles :

If your Test Boaklet Series Is B, please fill as shown
below ;

EERIES

0060

If you have not marked the Test Booklet Series at
side 1 of the OMR Answer Sheet or marked in a way
that it leads to discrepancy In determining the exact
Test Booklet Series, then, in all such cases, your
Answer Sheet will be Invalldated without any further
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6. Each question is followed by 4 answer choices.
Of these, you have to select one correct answer

| and mark it on the Answer Sheet by darkening

the appropriate circle for the question. If more

| than one circle |s darkened, that answer will not

be valued at all. Use Blue/Black Ball Point Pen
to make heavy black marks to fill the circle
completely. Make no other stray marks.

| e.g. : If the answer for Question No. 1 Is Answer
| choice (2), it should be marked as follows:

10 @006

7. Mark Paper Code and Hall Ticket No. as given in
the Hall Ticket with Blue/Black Ball Point Pen by

| darkening appropriate circles n side 1 of the

OMR Answer Sheet. Incorrect/not encoding will

| lead to invalidation of your Answer Sheet,

|  Example: If the Paper Code is 40118 and Hall Ticket

Nu.lslﬂlﬂlumm,ﬂlimsmwnhehw:

| ROOIORRORRIOG

[ e
OBl )

DHDDDIDDIDID D]

6. 58 S/ e oS

- S 85 & aed S8 €5, 198 35S sonles ,

I 9,19,

©[6,0]6)[0]o]e]o)

N O [v)[6] ][00

OB
) eOII®

©/©]

DO
PEO®
©)0l0)e)

Retioron, Husst
ST ST JoErd, Sirees Sl
o8 Sowofods AT POSIBD. a8 5@3'
IR NToH DD & SIrErso S0Nedoseis. |
DT T Joserds ap/erk &rd davoss
oD Sreh SSdEriomd, 8 D& Aesen
Aabtso ™9 Hiton votlosise md Sathoes,
G0 135 (SO SITTN0 2 eand oy & d08
JGomr Joed,

10O @ 0.0

VTS Sed-ey/epf wE Mowots dinos
OMR 8505 $59 28 1-6 aswds :’Jﬂ::_iﬂ:::‘.'-l
JHEE. Jod. eI a3y ostse or wiso |
VOSEIBLe I B dIrH Swo Sworovosso
Sdheds,

acr L35 £°8 40118 8ao 95 o38eS Sowm

101190000123 eond & #0d Mo Do»d,

AL J

90 ) DOIDIDID/@IDID
E@%ﬁ[&m'ﬁ]@@m:@
©lo/o)olo)0BBlee)e)
DD P PRBOPOOOKD
ORI
6,6 0)6)0)0)0)VG6)o)6)
v)6)v)0)0)0we]wa)
®OIPPREEEEIE
200 JoLloloe)




40318

PAPER - 11
SECRETARIAL ABILITIES

Which of the following diagram best indicates
the group of

Sun, Moon, Stars

508 m¢3S” D B0 BrSdget, oo,

& TR SO SO0 7

Q0

(1) (2)
(1) 4 ) 1 (@ 2

If the rectangle represents - private
employees, the trlangle represents rural
people, the circle represents doctors and the
8quare represents graduates, which of tha
following represents rural private employses,

who are graduates ?
&8 WG (BB Aadshes,
PBOD,  Hydo

B2hzo (e
PRTATATTAN SN

O, ‘Sé"gﬁm
DR, ($00 S H8)20BS (e

D3¢0 &30 DO ArdNod ?

Which of the following diagram best indicates
the group of :

Indla, Andhra Pradesh, Telangana

Sod &8S O dew0 rsssio,
SBOISIDTT, BT
28DoDYOA ?

9O ho:

(1) () (3) (4)
M4 @1 &2 (43

oo |

4,

L

Select a figure from amongst the Answer
Figures which will continue the same series
as established by the five Problem Figures.

Fod 2dIS DD Déerersy
SRATNONEAE QO™ JIrerd Hérerest
. DD BErD), HBOS0A.

Problem Figures / 55 s Déren :

* X X
I:t--

88 @4C

Find out the right figure from A, B, C and D in
the place of ‘?’ to continue the series.

BB+ T3R0S 2 Pysod

BOBIONS $BS Herd) A, B, G, D o
S04 Ho30A.

Find out the right figure from A, B, Cand D to
complete the figure given below.

508 Jerd) oo TovardE A, B, C,
D © $08 $D HErd) HO0IOA.

Problem Figure / 558 560 ;
ol

Answer Figures / D308 Jérey




10.

-1,

Arrange the following words In alphabetical
order and find the 6" word,

& S08 &%) dood ®id Ehos
DO 6 150004
Discipline, Diglogue,

Diameter, Diag
H} hmmhﬁgm

rlty, Dlm‘%lﬂn

Devour
Dialoguey,_—"
Dimension

(3) Discipline
Choose the word which is different from the |
rest
(1) Brinjal (2) Cabbage
(3) Cucumber (4) Papaya
Bod 88 Dlor asy oD
EoMsod.
(1) SosadH (2) s
(3) &RsoD S om
Find the minimum number of straight lines
required to make the given figure.
(80 ad))d HErd) A8joBEA
SRROM IV AGE Bpen srad) 7
Yxt
B
(1) 17 (@) 11 (3) 14 ’yvr‘iﬁ

There are two similar figures given below with
some numbers. Looking at the first figure
carefully, fill the suitable .number in the
second figure in place of ‘7",

Do 2.8 eroed Heren TR Jopiod
e & (S0 @SRFTAD. Jnses
DETR) ST oD, TS oS
1050 (7)) &S @odleds
NOBIN SadFH0A.

(1) 280 (2) 202 (3) 303 (4) 100

Find out the right one in place of '?".

+ 7 P0S domd)d JdoS oD

40318

8odhod.

TBLD, VEPI, XHTN. ?

(1) ZKXP (YZJVP  (3) ZVUP (4) ZKXS

5

12.

13.

14.

15.

A6

Study the following number sequence and
answer the question below :
486251473985726315824863
802243486

How many odd numbers are there in the
sequence each of which is immediately
followed by an odd number 7

1808 B )& AR er|iedrr HoDDoD), o0
$od AIAS (HANH  DSrorso
orahod. : _
486251473985726315824863
852243496

D (B3S 2.% B Sopg (NS L WY

dops STWpr ) 1BV Dopgen
AT 0D ?
2 1

@2 (44

Find out which of the letter series follows the
given rule.
Number of “letters skipped in between
adjacent lstters in the series is in the order of
LA 8 F

(508 DY AN ®DHH00T ey &

FB DO 7

ISavorr 12, 22, 32, .- ¥ oren (HE)DE)
V500 DG OB SDYyoTd).

(1) EGLV (2) ACKR

(3) DFLO (4) KMUZ

How many dots are there on the dice face
opposite the one with four dots 7

808 FOES’ 4 HE O ST D) |
08N a;:-:,,c:-aa ?

PP

(1) 6 {E} 3 (3) 4

Two positions of a dice are shnwn below.
When six is at the bottom, what number will
be at the top ?

Dotk P ad) a8 O (8o

2D S2B08. 6 (808 @))% S A
ﬁﬂﬁnnﬂn ?

{ill

1 (8) 2 () 4"

,, Serles-D
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16. How many triangles are there in the following (21, In a particular code languags, ‘lop eop aop
figure ? ' fop’ means ‘Doctors are above laws', ‘fop cop
bop gop’ means ‘ Books were above table’,
‘aop dop uop gop’ means ° Doctors stopped
reading books’ and ‘cop jop eop uop’ means
' Reading maps were laws’. In the same way
‘Books are reading laws’ means
28 |0BE §'8 2raes lop eop aop fop’
©Oo® ‘TE8) 88 5 %', wd fop cop

17. How many squares are there in the foliowing bop gop' @0 "8y 35 A e’
figure 7 ©A), ‘aop dop uop gop' wo¥, ‘@56
808 H08° I Sds&Rren Sory 7 W8 8dorb ansy ed, ‘eop jop sop uop

' ©O% 'BACK JrsDy S8 enty wond e
TS ) ub AALK ety wol)
47" ‘aop bop eop uop!
(2) 'bop cop uop ecp’
(3) ‘lop gop eop.uop’
(4) ‘oupcop lop acp'

1) 38
_jsim 22.  Read the following statements carefully and
choose the right conclusion -
18. In certain coding method, the word | Statements ;
QUESTION is encoded as RTGQWFS., (i). ~All scholars are observers. @
what is the code word for the worg (ly  Some boys are scholars.
RESPONSE 7 ' Conciusione :
28 S'A0N HPAS" QUESTION &3 DR f;; fﬁ'f::h:f:;ﬂg?t observers.
TR ey 5 I 2 - (4) Allobservers are boys, -
(1) SUDRNKAW  (2) SUDKNRAW | o8 2d)d Hosorod $aD OB
(3) SDVNKRWA _N4"SDUNRKWA | NTERD AWy el X,
. - SeSSaren
19.  From the four positions of a dice.given below, |
find the colour which is Opposite to yeliow. () 0FGHo0as I}ﬂ?ﬂﬁﬂ}.
808 BD)S 2.8 v S revis (i) Sos008 arent H88%Svew,
TTOD  ADJ0Dyellow  Sorbdy | T Bwen: )
S5BBLOM &Sy Boi HA 2 (1) S0&5008 H03%5veN H68%er8en sk,
/od 7 (2) J0TCHerodss arexd.
M&émnﬂ e HOPOZ0en.
H E (4) DOFOHOOEEF ;e
(2) Red 23. In a particular code language @ means
(4) Rose | ‘greater than’, # means ‘less than', $ means
‘not equal 10’ and % means ‘equal to', It is
20.  In certain coding method, the word HRDP is | given that Q@P, 3P% 2Q, Q$R. and Q%3R,
éncoded as XHTF. What is the code word for then
the word LVHW 2 L 28 §6 70" @ w0l »; # wod
w8 §G 208" HRDP D XHTF mr &5 3 v, | $ @08 %, % ©0b) =,
LVHW D 2 8o 86 Sren 7 Q@P, 3P% 2Q, Q$R, Q% 3R e
(1) -YLMX (@) YMXL ' (1) 2P$4R 2) R@P
(3) BLXM (4) BMLX (3) P#2R (4) 2R%P
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Q. No. 24 — 28 : Read the following information

carefully and answer the questions glven below :

A, B, C, D, E, F and G are seven persons who travel

to office every day in a particular train which stops

at five stations - S.R.Nagar, ESI Hospital,

Erragadda, Bharat Nagar and Moosapet

respectively — after it leaves the basa station.

. Three among them get in the train at the base
station. '

# D gets down at the station next to the station
at which F gets down.

s G gets in at Erragadda and gets down with C
after having passed one station.

J A travels between only two consecutiva
stations and gets down at Moosapet.

0 B and D work in the same office and they get
down at Erragadda,
None of them gets In at ESI Hospital.

Both C and F get in at the first station after
the base station.

] E gets In with two others and gets down alone

at the station next to the station at which D
gets down.

. None of them gets down at S.R.Nagar.

24 - 28 : (808 JSrorord) ardmr SAD,
- TR (fod &l (H¥) 0% Sdrprard 304.

D D, 002 0D, B eI 7 D0A SiEen (HA
o abn® 2.8 Bend’ Hofrmo TP, &
Ben HD PASS' 20HenBT0 ID.eb.SHE;
RIND FVIOD, DS, 2358S5KE, Sararaéd

' @0F 5 PASS® etbehod. {
7 St Sfhen B PESS' Dol
ENEE - o)
o D BOAS IS SHrs DasSs A |
Sfbesdio,
S0 B ABKG VASS D), 2.8 DAS i8S
S$Sared DS EOD Athercd,
¢ ) DO DFDES HoT RS Loeds
(PSSR, Srarhads aned.

o D, B addr ¥ whnd 0Ty |

ABRGS’ Adberd.
v R0 'O PASS ISCP 800,
o D ew FH DAS Shared I,
LR VASS' Doy Er.

¢ 3 5T BBOS O Dew I & BAS |

DAS SHTE PASS' 2.8, 8 Sihvarcho,
o 8. I8 VASS’ AN BB

/

24. At which station does B gets In 7

(1) BharatNagar (2) S.R.Nagar
(3) Base Staton (4) Ermagadda
D, 2 YASS" s ?
(1) PESS55 2) SRl S5
(3) T PAS (4) AOKG
25. At which station does G gets down ?
(1) BharatNagar (2) S.R.Nagar
(3) Moosapet (4) Ermagadda
2, 2 RNaSS A ?
(1) DOSSNHE (2) Sf el 56585
(3B) SrHe (4) &K
26. E gets down, how many stations after F gets
down 7
(1) Four (2) One
(3} Two (4) Three
2P OY dlard dd)S PaSS a
OhEdy?
(1) 4 (2) 1a5
(3) 23 @) 35

27. . At which station does E gets down 7
{1} Data inadequata.
(2) ESI Hospital
(3) Erragadda
(4) Bharat Nagar

L R, RASS A ?
. (1) e dSrardo
(2) I TS
(3) 6N
(4) 258 S15

At which station doas A gets in ?
(1} Bharat Nagar

(2) S.R. Nagar

(3) ESI Hospital

(4) Erragadda

D, &) PASS' 5B ?

(1) PEESI5E

(2) dR.esb. S118

(3) TR IS

() JSOG

Series-D



29.

31.

/,csr/;’:.d,:nfﬁ

- 32.

It PAQ impliee P2 + Q2, PBQ implios P2 - Q2,
then what is the value of (5A8) B (3A7) 7

PAQ, P2+ @2 Q JrdQ PBQ, P2- Q2
K DT) (5AB)B(3AT) Dendd DO 7

(1) 857 (2) 287

(3) 327 (4) 347

If6xB=10and B x 8 =V 145, then what is
the value of 9 x 40 ?

Bxf8=10 50850
;H{E,- V145 ©QVE, 9 x 40 DeNS DO ?
41 (2) V197
(3) 40 (4) 31

A river flows from west to east and on the way
turns left and flows some distance, then goes
in a semi circle around a temple, and finally
turns left in right angles. In which direction Ie

the river finally flowing 7
(1) South (2) East
(3) Woest (4) North

28 A0 JBHE Dod érd) I
DOTBSNos. & (Hoireod 8D
B3 H0A Fos &rdo |HATSodS
SSTS, o8 HA &Y ef Sy ssods
1NASTBOD), VIS ©oFnod &
2 8O0 DIO™ IO . BES
SISO 7 ;

(1) ¢S&=mo (2) &rdd)

(4) @S0

Starting from a point'a person walks 1 km to
east, then he wirns 1o the south and walks for

5 km. Next. he turns east and walks 2 km‘n,_;

After this he tums to the north and walks for
9 km. How far is he from his starting point ?

28 10890 Hod achendd 2.8 S8
S HES’ 1 km SBDS Sares, (5880
SIS S0A 5 4.2, SATN. © SKTS
A Ard)) Jads0 S0N 2 km SBTA). &3
doaréd eod ) o Py A8A 9 km
RO, ®dD D 20HenTOS
P90 0D Do &0’ darydh 7
4¥ 6km (2) 3k~

(3) 4km (4) 5km

40318
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If odometer is to speed as compass is to

(1) Direction (2) RADAR
(3) Hiking (4) Needle
LE DS JrdE HowodHR ‘Soh'
828 Soa080004 ?
DES (BF)
2 oold

(3) 8ol (Ldibdie)
(4) DAS (dmey)

34. Find the odd cne from the following :

1808 78S’ DS om dod DO ?
(1) PRUY (2) ~MORY
(3) HIMQ (4)  ATWZ

In a lake, thera are 10 steps laballed using
numbers from 1 to-10. Starting from step 1,

every minute a frog jumps 1o the fourth step
from where It started i.a. 5 and from 5 it would
go to.the step 9 and from 9 it would go to 3
etc. Where would the frog be at the &
minute if it starts from 1 ?

28 TS’ 1 S 908 Hod 105 ol
SEE KHBOD2BS 10 EY E09. 2.8 £53
D8 ADAIVE d &S) Dty SHod
e DEN  E Arebod
SO 1 OB 55 WEYPS, 5 Sod
925 DEPS, 9 0B 359 P8 Artoehrod.
100 AP fHOG Fwdien VOB @ 85 6065
X DHOoS DSy e S drotnod ?
(1) 8 @) 1

P @) 5

1A
If ‘p’ means +, ‘q’ meane —, ‘r means ¥, ‘g’
me

ans +, what is tha valua of
1159216p87r168s12p4068q258 7
p @0ty + ), § @0 - wR, 1 wod
x 20, 8 @OF) + A

115q216p87r168512p406q258 )ea) )OS 7

(1) 572 (771265 (3) -486 (4) 543
Which word does NOT belong with the others
(1) Jowar (2) Wheat
(3) Mustard (4) Paddy
808 78S’ DS o &S1O ST
(1) &S (2) o
AB) BINTTEN 4) S0 e
< Serles-II
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If the word “UNIVERSITY" is reversed and In
the reversed word third and sixth letters are
interchanged, what Is the sixth letter from the

left ?

UNIVERSITY &% JmmR) &&hdard 3,
8 SO B0 SwreS, alsd
w000  DBHPo  Sr8)dpand,
AT Dok 85 wEbo 20 7

(1) S ﬂn

@1 @ E

yT) 19 A
Pramod walks 4 km from office, tums right
and walks 3 km, then he turns left and walks
8 km. Again turns left and walks for 3 km. At
the end, he notices that he is facing towards
west. In which direction was the office from
the present place 7
(1) South (2) East
(3) Waest (4) North

O3PS S5 @ Hod 4 8.20. AAD),
50038 S0A 3 8.0, AN, ST sed DS
1558 888 8 5. SAD HP BN D
80N 3 8. SATH. DHIE. ®SH
308 AFE dCOE™ AL KA,

DS PO oA HSQ BB 2 OIS’
GOl ?

(1) ¢8eo Aﬂ/éﬂi\_}

(3) &6 (4) &S50

In A, B, C, D, ... X, Y, Z (26 lefters series)
which Is the 8™ letter to the left of 8™ latter
from the right end ? _

A B GC,D,...XY, 228 eoioce 550) S
208 D36 Hod 935 wEoAl D
152,85 &eS) 85 BEB0 A ?

(h M 2) J

3) K

41.

42.

Find out the next number in the following
series.

1808 335" dthared Dopin SFS0h.
1,1,5, 49, 11, 169, 19, ?

361 (2) 256
(3) 324 (4) 529

Find out the next number in the following
series .

1808 F8S’ Shae Hopsd ofidod.
45678912, 5678912, 567891, 7

47 678012 (2) 56789
(3) 67881 (4) 667892

What is the missing number in the following 7
1808 (FAS" $%)3 505 2O ?
300, 296, 287, 27,7, E1P

i

(1) 248 (2) 244 (3) 246 (4) 250

What is the wrong number in the series 7
808 (FAS’ ) &) dopg A&7
28, B4, 112, 196, 308, 504, 872

(1) 872 (2) &4 (3) 308 (4) 504

If A+ B means A is the mother ot B, Ax B
means A is the husband of B and A + B
means A is the daughter of B. In the
expression Y x Q + Z + K, what is the relation
between Zand Y 7
(1) Zis the father-in-law of Y.
(2) Zls the fatherof Y.
(3) Ziethe mother-In-law of Y.
(4) Z1sthe daughterof Y.
2+ 0o DT, $9, d x D o
283, @msﬁ H9, 0+ wod) ), D gy
srsodh wond, P v g+ 28+ 35
288 38 K085 81002050 O 7
(1) 28, 8 QE) D
(2) 28, 3 Gs), So|H
(3) a8, 3 B, o8
A8, B Sk Sl

Find out the next number In the following
sernes :

1808 B3 SSas Hopid S0,
0,2 3,4,8,8,15,14,7

(1) 26 (2) 28

(d—2
(3) 22 r 4# B

Sertes-D



47,

48.

At what time between 10 and 11 o'clock will

the hands of a clock be in the same straight
line but, not together ? .

10

(1) 21— min. past 10

(2) 22— min. past 10
=7 Min. pa

(3) 22 22 mi 10
7 min. past

A
(4) 21 11 min. past 10

10 f50. 11 Bo.0 Sddy 8BTS0 Bock
Suener HiBdoivoar 2.8 H8¢ B’
D)) GOLFON ?

10
(1) 10fote 21 = &
9
(2) 1080ty 22 = D,

(3) 10 fode) 22 -;—-E— .

9
}4)/1 0 ffoe 21 == Q),
11

What was the day of the week on 8™ Qctober,
2004 7
(1) Saturday (2) Monday
(3) Wednesday (4) Frigay
8 ©5 205, 2004 TG o) G0 ONOS ?
(1) 4Qardo (2) Fdardo
A8 QS0 (4) BHE>80
48. The calendar for the year 2018 will be the
same for which of the following year 7
2018 HoJSBS0 SEToNs, & 1800
TES' 2 JodB)B0 SESoAb FO
SO0 ? |
(1) 2031 (2) 2023
A8y 2029 (4) 2030
40318 -

§1.

52.

@ 117 Aifien

/@Aﬁa

Sunitha started from her house towards
south. After covering 12 km, she turned her
left and travelled a distance of 5 km. What is
the shortest distance now from her house 7

DS S$S 08 Hod S0 OFS

(RATERNOO. 12 km  IDHArdods
SHTS 8D &5 A% BH% 388
5 km (200008, )G Hod &
20438 edse)) ArS0 Q06 ?

2
4 13km () 17km
(3) 7km (4) 23km . . L‘%ﬁ:

1Ly
The angle between the minute hand and the
hour hand of a ¢lock when the time is 5.25 Is:

(1) 12% Degrees  (2) 11%D~auraas

@) M7 Degrees  (4) 125 Degrees

5 fote 25 Ao ISHhohod
KAGSrS0S'D Hobe ANEVEY, Aedare)
S0ENH 0658 8o does ?

) 12% Afiey (2 11-;_-; Alfen

(4) 12} Alfien

Introducing a person, a lady said, *He Is the
son of the brother of mother of my father.”
How Is the person related to the lady ?

(1) Uncle (2) Brother
(38) Cousin (4) Nephew
2.8 3380 DOWChHo T 2.8 Y &
QRO TDYOH. “Adtd  So|d T

S FOHG FRR”. & 558 8 DAL

DeDIEE 7
(1) wosud (2) FSSh

(4) Thedepch

Seriles:D



¥ 5,000 amounts ta ¥ 7,500 in 5 years at a
certain rate of simple interest. If the rate of
Interest is increased by B%, ¥ 10,000
amounts in 3 years to

(1) T 15400 (2) T 14,500

(3) T 15,000 (4) T 15,200

o H6F SO Bens' & 5,000 eHen
5 DoSe8yorS & 7.500 o savod.
S5G Bewd 8% DoOH &, 10,000 ®Ie 3

D0SSIT°S’ o TS0 M0 ?

(1) & 15,400 (2) & 14,500

(3) & 15,000 (4) & 15,200

The differance betwesn simple and

compound intarests compounded annually
on a certain sum of money for 2 years at 6%

per annum Is ¥ 36. What is the sum 7

Fod D Dot NoSe ool 6% SO
Bend H5¢ 3@, WEsde Fso 7 38
oS, & d20) Jod ?

(1) T 12,000 (2) ¥ 8,000

(3) ¢9,000 (4) 210,000

Speed of river Is 8 km/hr and speed of a
motorboat In stil water Is 32 km/hr. How
much distance can it covar downstream in 40
minutes 7

S8 Fto 8 Loty SO Do
DAS' 28HAS Ino 32 LHvsKoe
®ond HTEDE Td’ 40 Ao
& DS DO ArSo MeHod?

(1) 25% km/ 88, (2) 262 kv 8.,

/(3)/26 g kmv/ 8.2 (4) 25 % km/ 8.2,

0318

A vessel is filled with liquid, 3 parts of which
are water and 5 parts syrup. How much of the
mixture must be drawn off and replaced with
water s0 that the mixture may be half water
and half syrup ?

2.8 PSSR (B50S 3 Sodhen H,

5 dohen D @od. MéSod D

HESreos’ Ko Sohod, o Frdod' |

A Do, 3D DFoS HKo He,
Mo DEHT FOLFroD ?

mg @3 @F 3

11

57.

(1)
o

What ie eurface area of a 12 om % 10 cm = 5 em
brick ?

(1) 240 cm? (2) 230 cm?

(3) 480 cm? (4) 460 cm?

12 oM. x 10 Do, x 5 Vo

Fodcn fHo adnd A Hogféw
STEIO ek ?

(m/ 240 D02 () 230 D02
Y (3) 480002  (4) 460 0.2 o
5
If height of a cylinder is 50 ¢m and radius is
14 ¢cm, what is the volume.of it 7 JCS
(1) 33,800 cm? (2) 30,800 cm?® 2
(3) 32,800 cm? (4) 31,800 cm?

2.8 QrR0 TInE) ) 50 0.5, Fiardo
14 0N Wod, TR & HOSrR0
o)Oeh 7

(1). 38,800 RO (2) 30,800 20.53
(3) 32,800 RO (4) 31,800 D0.dy?

If area of a square shaped plot is 18,225
square metres, what Is the length of diagonal
of the plot (approx.) ?

(1) 225 m (2) 180 m

(3) 135m (4) 125m
SAGTTEoS &) a8 v Zrego
18,226 wH30y WOD sond, & Fén
TJoE) EG0 > AToS (o) 7

(1) 2250808 (2 190 &P

@) 1385008 4y 125 Serdh

Thera are 40 people in a group. If all shake
hands with one another, how many
handshakes are possible ?

2.8 S0 40 508 SiHen dray .
D8 2580 P8 2508 Soredo
TR, 2Eo ) STOTEn D0
LITON ?

(2) 390

(4) 780

' Series-D
tu},nr-r
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Three pipes A, B and C are available to fill a
tank. Tha time taken to fill the tank by A is 15
hours and by B is 10 hours. The time taken to
fill the tank by both A and B together Is equal
to the time required for C to fill it. How much
time is required to fill the tank by all the three

pipes together ?
(1) B hours (2) 3 hours
(3) 4 hours (4) 4.5 hours

), £, 0 ®FT Féren 2.8 erjofh JosardHi
®OrenS’ @aTow. @ o
D 15 o0&, D 10 Koo' doysraw.
@ O o Bodr ¥ e &rjod
QOJETNVE HE) BXADO D' @8 drsosHd
NOATE I DA JSrSo.
Ardd MPen 501 & &rpoHd
NORTRVE D0 DaDODHO DO A ?

(1) 6 So&en (2) 3 Ko&en

(3) 4foen  (4) 4.5 Kode

Anil can complete a‘work in 15 days by
working 8 hours per day. Sanjay can
complete the same work In 25 days by
working 6 hours per day, If both of them work
together 8 hours each per day, in how many
days the work will be completed 7

13 11
(1) 835 days  (2) 65+ days
(3) 73 daye  (4) 739 daye

8 F5 8 Hode® $*HIS HOTIL 2.8

HAN 16 S’ 10 WM. w2 52
Q020D T80 8 KoL YIS HATD

25 Pord’ 0 TP, TOQEr B2rsd
8 Kod® WIS DX TN & D

FESrRE A0 Faren Hehodhood 7

(1) 835 Baren.  (2) 61 Saven

(3) ?% Faren  (4) ?%% Feren

A‘and B can complete a work In 80 days, B
and G can complete it in 80 days, C and A
can complete the same work in 120 days. In
how many days, B alone can do that work ?

S, D en 2.8 HAD 60 FoS' 138 I,
oF M D, H e 80 &S 2, D e

120 Sord’ 530 TS, © HI2 D 2.86,8

Q) Tard’ 300 TR 7

(1) 98 (2) 80 (3) 92 (4) o4

64.

Walking atg of her normal speed, Anjali takes

20 minutes more to reach her office from
home. What is the usual time taken by her to
cover the distance between her home and
office ?

(1) 80 min.
(3) 100 min.

(2) 120 min.
(4) 44 min,

Srdwrenr AT Itos E 5 S0

S0 SAR ®02d, 2088 HoA ehHns
SETOS 20 AN NS DA,
TG0 S5 208 Hod ehHHy
SETRE Do DDONO NEIS0A ?

(1) 90aren. '(2) 120 daren
(3) 100 DDaxend  (4) 44 Aaren

Train A leaves Secunderabad station at 6 AM

with .a speed of 60 kmph towards
Visakhapatnam. Another Train B leaves

Secunderabad station at 8 AM with a speed
of 80 kmph towards Visakhapatnam. How
many Kliometres from Visakhapatnam will
traine oross each other, if the distance
between Secunderabad and Visakhapatnam
Is 800 km ?

(1) 375 km (@) 225 km

(3) 380 km (4) 240 km

o o3 Do &GdHo 8 Hotyes
NEoTrS PAS H0A ITPHET DS
60 8.20./108) JFriod 200e0F008. TS
Bew D &aH0 8 Kobokh dioard
DAS D08 drpiem 8 90 L. Kok
K0S cHenBHE08. HloirarSty
DTROEM S g ArSo 800 &N
WS, ITPHMIE Jos drdoss
DO B0, 2.5 AR «HTES oréneron ?

(1) 375 &.2b. (2) 225 8.2.
(3) 360 4.2 (4) 240 8.3,

Series-D



Ratio of salaries of Kiran and Suman is 4:5

- and after a hike of T 40,000 each in their

B's Share 's Share D'sShare 5
(1) €3,200 (2) T2,000
(3) ¥2500 (4) T 3,000

40318

salarles the ratio changed to 5:6. What Is the
current salary of Suman after the hike 7

(1) T 2,52,000 (2) T 1,80,000
(3) 72,16,000 (4) 2 2.40,000
8665, DS Aeren 4 : 5 DHIAS
G0N, BWOS & 40,000 TS HBebo
DONS SHIS T8 dare> B 5 : 6
LONCH, AS0 DOAN ST DS

TB0EL 19N S0 o6 ?
(1) &.252000 (2) & 1,80,000
3) &2,16,000 (4) &r 2,40,000

Azeez bought a scooter for some amount and
spent 20% of it for repairs. After the repalrs,
he sold it for 30% profit. In the process Azeez

made T 3,600 as profit, what was the amount
spent on repairs ? '

odd 28 Jm sl Fod s T,
OV 20% ORI D) DEF. 3D
BoNd SHTS o0) 30% eryrdd
o8, odT5% T 3800 o SN

A0 SDEHH BoNS B Do ?
(1) T2,700 () 1,800
(3) T2,000 (4) ¥ 2,400

An Amount was distributed among A, B, C
and D In the following manner and B's share
Is T 1,600. What Is the share of D ?

$08 ATV 2, D, D, & e (80 A
W5*00 Dothsvod O Trerm &r 1,600
3,8 e o ?

DT Doer DaE>r 4

Der“Daotr"Aser"56
(1) &~ 3,200 (2) & 2,000
(3) & 2,500 (4) & 3,000

13

70.

15 workers working for 8 hours per day can
complete a work in 32 days. How many
workers by working 8 hours per day can
complete the same work in 20 days ?

15 00 Farfo 9 5060 TS HITY
32 Farod’ o8 1D TI%. Jod Hod
250 8 HOL® 13" HATID & HDD
20 S 3 JIJSH?

(1) 28 (2 25 (3) 26 (4) 27

In a monthly electricity bill, some part is fixed
and other part is calculated based on the

actual consumption of power per unit price. In
a particular month for 500 units, the total

electricity bill was T 2,000 and in another
month for 650 units, the total bill was T 2,450.

What will be the electricity bill, if the power
consumption Ig 725 units ?

(1) T2,800 (2) 72,675

(3) ¥2850 (4) 72,700
SON8 S DS Todb Jweso
wSomm DfEeA SO
DVATHODN AN oLrReS &6
Sapddd . 28 AL Joss s00
AP AVrrRE & 2,000, HTE
Sod' 850 Crdd) DATBrrs &, 2.450
Dy DB, 726 Iy dys

LRATRE Joed DHew Soh 7
(1) &.2,800 (2) &> 2875
(3) & 2,650 (4) & 2,700

Anand, Bharath, Manas and Prakash have
Invested in the ratio of 4:7:9:5 In a business.
Anand stayed in the business for 8 months,
Bharath stayed for 8 months, Manas stayed
for & monthe and Prakash stayed for 12
mantha. if the total profit eamed Is T 43,000,
what Is the difference between the shares of

profits of Anand and Prakash ?
(1) ¥5.800 (2) 5,000
(3) ¥5,200 (4) 25,400

800, FO&, JrdD, PHehen 28
T30S’ 4:7:9:5 D4R nYd
PN, 8 FrsosS 8808 8 Toey,
P68 6 Joww, IrSR 8 Joey, 1HTH
12 dow a0, Inéo S0)S erdlo
Q. 43,000 o0&, @dof, Hshe erpre

SETE 058 2350 o 7
(1) & 5,800 (2) & 5,000
(4) & 5,400

(3) & 5,200
' Series-D



T2.

74.

75.

40318

if 2 is added to the numerator and 3 is|78.

subtracted from the denominator of a fraction,
the fraction becomes -:1 If 1 is subtracted from
the numerator and 5 is added to the
denominator, the fraction becomes i What is

the sum of numerator and denominator of that
fraction 7

28 P00 BE) ©OVE 2 O, FFo
0A 3 VIR & HI)o % 990D,
O30 W0 1 BVIH FOVE 5 5ODE &
D20 7 ©YE00. 8 DS 0 Ty ©F,

Jforen Jsho o ?
(1) 13 . (2) 10
3) 11 (4) 12

Difference of the current ages of father and
son Is 30 years, 10 years ago, the product of |
their ages was 400, what will be the age of
the father after 8 years 7

(1) 53 years (2) 68 years

(3) 58 years (4) 83 years

a8 Sold F5e Dy Sohde PSo
30 NOJS TN, 10 Jodeé yore: |8b0 o8

PORAL OPO 400 ®ONE, 8 OIS Yo 0

e 20(A 30D Do ?
(1) 83010"e  (2) 68 Jdoro e
(3) 58J0ICCey (4) 63 Noworew

In a garden there are 33,856 trees and
number of rows of trees is equal t6 number of
columns of trees. How many rows of trees are

there In the garden 7

33,856 TLY Ho 2.8 LS’ el SShdew,
NN SDIOH A0 VOB,
SHS’ A ) SHHen daryow 7

(1) 184 (2) 174 (3) 178 (4) 188

The average of 9 numbers is 23. Average of
first. two numbers is 25 and the average of
next three numbers Is 17. If the average of
6™, 7" and 8" numbers Is 2 more than the 9™
number, what is 8™ number ?

9 NOPIL Jfew 23. IAE Bodk dopge>
Oen 25, Slarad St Soied HKe
17.6 65,7 &, 8 & NOPIL Hifew, 9 & Doy
$0%) 2 50,38, 9 35 DoYg Noes 7

(1) 25 (20 22 (3) 23 (4) 24

14

Two persons have contested in an election
and 12% of the voters have not participated
in voting. 15 % of the polled votes are invalid
and 10 % of the polied votes are for NOTA.
Among the remalning votes, the winner got
60% and won the election with 2,640 votes

majority. How many voters are there in the
voters list ?

AP S5Hen 8 TS a8 )5S
12% DHod 400 L& JahB. FBS
506" 15% 4,60 TS, 10% 2,60 ‘S’
8 Jgrow. RO L&S* 80% 2.0 0d,
2,640 .8 Dersds 2885 AON), ©
L% 2DES dod. Hod LeD
AT & ?

(1) 28,000
(3) 24,000

(2) 20.000
(4) 26,400

I 6(2~) = 216 and 6(4+?) 27,778, what is
the value of b 7

6@~D) = 216, 6(3*D) 27778 wand b
QIS VS )OS ? |
(1) 1 @) 4

3) 3 (4) 2

Krishnaiah gave 30% of his retirement
benefits to his wife. From the remalning
amount he distributed 20% each to his 2
children. From the remaining, 50% of the
amount he donated to a school. If the final

balance left with him is T 42,000, what was
his total amount of retirement benefits ?

(1) T2,20,000 (2) ¥ 1,80,000
(3) ¥2,00,000 (4) T2,10,000
Bowody &8 ASH dSet

QOBOHOD $D)S BnsocS 30% wéd
e85 AT, WADS oot 20%
LN S APD DR OX Jotrdh, RO
DADS ok, 50% 28 FETOL TW0
Trd. OIS S5 GG S 42,000
NDE, £xahs Tos) &t DE%

NOWOHON) S0 V0o doeh ?
(1) & 2,20,000 (2) & 1,80,000
(3) &> 2,00,000

(4) & 2,10,000
' Series.D



79.  If the sum of the two numbers is 20 and their

81.
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product is 84, what is value of the sum of
squares of those two numbers ?

Soth dopse o 20 B [STATS
84 ®oN8 & Bodh Sopge 20" Jnedo
O 7
(1) 250
(3) 208

(2) 232
(4) 202

A, B and C are running in same direction
around a cireular playground and all the three
are started from same point. If A, B and C
complete one round of running in 42, 68 and
126 seconds respectively, when do they meet
again at the starting point ?

(1) After 72 Minutes 24 Seconds
(2) After 70 Minutes 24 Seconds
(3) After 71 Minutes 26 Seconde
(4) After 71 Minutes 24 Seconde

D D, D 28 BFS Symres e Deo
O 2,838, 28 o Do HORSEO
B*E0Do. a8 HOBHETE ), B
0 08 Do 42, 68, 126 DED HAH

T SHer 20HenBBS Hood HP |

O JNANO SHrares Zendh 2
(1) 729.24 D, SHTS "
(@) 700.24 . Soared

3) 710.28 . S

(4) 710.24 . does

What is the value of 55, 64,328 x125 7

>0, 64,328 x125 e Do 7
(1) 69,55,42,000 (2) ©8,55,41,000
(3) €8,54,41,000 (4) 69,55,41,000

(286+796)%-(286~796)2
I“ﬂ—_ﬂ_—_l__
286 X 796

+796)%~ ~796)?
(286+796) [zaﬁ_ iﬂ_ -
286 X796 _
(1) 2,164 (2) 1,082

(3) 510 " _#4

~ .

M

;18

In the year 2010, population of village A was
72,000 and village B was 64,000. The
Population of village A has been decreasing
at the rate of 300 per year and population of
village B has been increasing 200 per year.
In which year, the populations of both the
villages will be equal ?

2010 Jofs 508" A ©F (rS 2oy
72,000, B @ (2 27372 64,000 ™ dod,
A ([T 23 D0SS o8 300 RO RIN
SPEr 0. B e 2IT"ET OSSO0 8
200 TS DHMWST. d0S, 5
0SS Y80S Body [Tadre zaezr
QATI0 WIE O 7

(1) 2027 (2) 2024°(3) 2025 (4) 2026

o, U, 2y
"J,. -I-2 i\ ,whatisthe'.'aluenfax ?
X ¢ ] 19 2y
- N 2 A . ?
r+= awc-:a#,ax SN OeS

4 16
(135 @ 37
5 3
) 35 @) 35

3 1
After adding 5 and subtracting = from a

4
fraction the new fraction Is = What was the
initlal fraction ?

28 Dy D8 E D8O, = d a3y

; SN8DI087
g8 Bg

(1) es @ Tes
@ g5 “ 168

Which of the following fractions sequence is
In descending order ?

S0 o8S' D D IS w38
Eos &od 7

2 43211 > 12341

"} ?JgrEJFrE:E {2} TJZJFJEJQJB
53114 2 5 31 421

(3] ?lsizlalgl?f‘} ?lslzlgl?iﬂ
Series-D
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Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. Hence, the meal that is taken in the
morning is breakfast..

B. The word originated from the fact that
after dinner, we don't eat the whole night
and this is a long time for the body to go
without food.

C. During day time, we keep on eating and

munching after every 3-4 hours.

People often ask as to why breakfast is
important,

E. But the duration between dinner and
breakfast is pretty long, sometimes may
be equivalant to a fast.

F. The answer lies in the word ‘breakfast
itself.

(1) CDBEFA
(3) DBEFCA

«2r~ DFBCEA
(4) CBEFDA

Find out the propar'sequence of the following
sentences to form a meaningful paragraph.

A. That no amount of policing can solve the
Issue.

B. The factthat the stadlum was not full and
that touts outside were having a field day
shows

C. Itis odd that large sections of the media
did not report the black market in tickets
during the Royal Challengers

D. Bangalore-Chennai Super Kings IPL
match in Bengaluru,

E. Something that should have been taken

soriously.
(1) CADEB (2) CEDBA
DBEA (4). CDEBA

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. The percentage of population below
poverty line has been decreasing.

B. Therefors, it is a welcome sign, but we
must guard againsat our ascalating rate of
population growth.

C. Poverty alleviation Is one of the most
significant programmes.

D. Although this change Is slow and
gradual, [t appears to be consistent. -

E. The extent of success of this programme

can be sensed when we study the

proportion of people below poverty line.

ABDCE (2) EDBCA

CBDEA (4) CDBEA

(1)

16

o1.

)5)/ CFBEAD

Find out the proper sequence of the following
sentences to form a meaningful paragraph.

A. Moreover, salaries In public seclor
enterprises are not as competitive as
those offered by private or foreign
corporate.

B. This trend should be a wake-up call for
stakeholders to examine  why
employees are seeking  betler
opportunities with private companies in
india and abroad.

C. Public Sector Enterprises (PSEs) have

been experiencing savere challenges in

attracting, motivating and retaining their
key staff.

D. Having identified these as the reasons
why employees leave PSEs, it Is
important to empower stakeholders to
find ways to remedy the situation.

E. One reason is that young employees
lured away by private fins are more
willing to undertake professional risks.

F. Employees in specialist roles especially
have become Increasingly difficult to

retain.,
{1) . FBECAED (2) CBEFAD

(4) FCBAED

Find out the proper sequence of the following
sentences to form a meaningful paragraph.

A. Japanese toys, for Instance, are in great
demand despite the heavy import duty.

B. The toys that they produce are, almost
without exception, of Inferior quality.

C. Their manufacturars hare nesd to be
reminded of this.

But making them is no child's play.
E. Toys ara meant for children.

F. Not surprisingly, many parents prefer 1o
buy the imported variety even though
these are usually much more expensive.

EDCBFA (2) ADBCEF
ABDFEC /441’ ECBFAD

Series-D
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Find out the proper sequence of the following
sentences to form a meaningful paragraph.
A. This sector employs 42 5 lakh Indians

directly, and has created over twice as .

many jobs Indirectly In other flelds.

B. Automation would then replace entry-
level jobs, denying jobs to college-
leavers, and lead to the retrenchment of
mid-level professionals who couldn't
remain relevant via constant reskilling.

C. The landscape of tha $150-billion IT
sector, one of India's largest |ob-
providers, Is changing fast, owing to
technological advances in automation
and robotics.

D. Butitie gradually moving away from the

linear growth model, with rise in revenue

matching net employea addition, to a

non-linear one whera income growth Is

Independent of additional hiring.

CADB (2) CDBA

(3) ABDC (4) BADC

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. By this measure, a poor Indlan tarmer
with little debt and little assets can end
up “richer” than a Wall Street hanker with
little assets and a large student loan.

B. In 2015, when the report was Isgued,
there was criticism of the report’s
methodology.

C. Inindia, ae per that roport, things are Just

as plain, as against the richest 1% of

Indians hold as much wealth as that held

by 58% of the Indian papulation.

The critics argued that the report

assumes wealth |s assets minus debt,

E. From a recently released report by
Oxtam, the.global charity organisation,
we leam that eight rich people own as
much-. wealth as haif the world's
population in 2018, :

F. These statistical Issues aside, what tha
Oxftam repot does show [sn't
necessarily who Is really poor In the
worid but that wealth Is a good proxy for
the ablliity to Influence polltics via
lagislation or campaign centributions,

(1) EBDAFC (&Y BECDAF

(3) BEDAFC (4) EDBFAC

17

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. 'Safety first' is the last concern of Indian
road users who think they are like the
proverbial cat with nine lives.

B. Perhaps our numerous engineering
colleges and technical institutes can
think of such projects.

C. It should be made mandatory to have
rumble strips or spaad bumps on either
side of such crossings.

D. In order to minimise accidents,

E. Powerful blink lights and loud hooters
that can be activated |ust betore a train

crosses should be thought of.
(1) ADCEB (2) AEBDC
(3) DECBA ({Aj ADRCE

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. The Centre has since issued rules for
conservation and management, and
chosen 1 15 water bodies in 24 Statos for
protection support, but thig Is obviously
too little.

B Loss of natural wetlands is an ongoing

catastréphe in India.

A decade ago, when the Salim Al

Centre for Ornithology and Matural

History released a conservation atlas for

all States using space applications.

D. Moreover, rasearch studies show that
the concentration of heavy metals in
such sitas Is leading to bicaccumulation,
thus entering the plants and animals that
ultimately form part of people’s food.

E. It reportad the traglc fact that 38% of
wetlands had already been lost
nationally; and shockingly, In some

Istricts only 12% survived.
CABED (2) BECAD
(3) BCEAD (4) CBADE

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. Bolder Isn't always better. howevar.

B. Red, orange and purple are vibrant

colours with energlsing effects to

counter the bluses,

The eye must catch it, look al it and

study It

D. Too much colour can be overwhelming
to some people.

E. 8o, if not the change of paints, go for a
bright-coloured table-cloth Instead.

(1) ABDEC (2) ABCED

(3) BACED (4) BECAD

Series-D
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Q.No. 87 to 101 : Read the following passage
carefully and answer the questions glven below.
it should be remembered that the nationalist
movement in India, like all nationalist movements,
was essentially a bourgeois movement. It represented
the natural historical stage of development, and to
movement is wrong. Gandhi rapraunted that
movement and the Indian masses in relation to that
movement to a supreme degree, and he became the
voice of Indian’ pedple to that extent. The_main
contribution of Gandhi to India and the Indian masses
has been through the powerful movements which he
launched through the National Congress. Through
nation-wide action he sought to mould the millions,
and largely succeeded in doing so, and changing
them from a demoralised, timid and hopeless mass,
bullied and crushed by every dominant interest, and
incapable of resistance, into a people with self-respect
and self-rellance, resisting tyranny, and capable of
united action and sacrifice for a larger cause.
Gandhi made people think of political and economic
lssues and every village and every bazaar hummed
with argument and debate on the new ideas and
hopes that filled the peopls. That' was an amazing
chological change. The time was ripe for.it,of
grﬂ and circumstances and world conditions
worked for this change. But a great leader is
necessary 1o take advantage of cirwmutma and

conditions. Gandhi was that leader, and he released |

many of the bonds that imprisoned and disabled our
minds, and none of us who experienced it can ever
forget that great feeling of relgase-and exhilaration
that came over the Indian people.
Gandhl has played a revolutionary role in India of the
greatest importance because he knew how to make
the most of the objective-conditions and couid reach
the heart of the ' masses, while groups with_a more
advanced Woﬁ?'mmﬂurﬁﬂ_f_galy in the air
b&causs thay did not Tit in with thoge conditions and
Eﬁlﬁ"themfnm not evoke any substantial response
from_the masses. It is perfectly true that Gandhi,
functioning in the nationalist plane, does not think in
terms of the conflict of classes, and tries to compose
their differences. But the action he has indulged and

taught ‘the paapl FEEE tnavitahly ral mass
consclousness tremendously and made social issues

vital. GandhT@nd the Congress must be judged by the

policies thay on they Induige In.
But behind this, personality counts and colours those

e

policles and actlvl'tiﬂs In 1ha case of very Bmap_ﬁnrml
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person like Gandhi the question of personality
becomes especially important in order to understand
and appraise him. To us he has represented

afid hionour of India; the yeaming of her sorrowing
millions to be rid of their innumerable burdens, and an.
j[I__LIﬂ to him by the British Gnvemrr_mﬁt or thars has
been an inuult to Inﬂﬁ and her people.

ﬂ?. To consider the nationalist mwament or to
griticise it as a working-class movement was
wrong because it was a

~A movement representsed by Gandhi
(2) historical movement
(3) voice of the Indian pecple
(4) bourgeocis movement

98. Gandhi played a revolutionary role in Indla

because he could
(1) lead the Indian National Congress
(2) . preach morality
,LW/ reach the heart of Indians
(4) see the conflict of classes

89.  Groups with advanced ideclogy functioned in

the air as they did not fit in with
(1) the differences among masses
(2) objective conditions of masses

_{3y" the Gandhlan ideclogy
(4) the class consciousnass of the people

100. Which one of the following is true of the givan
passage 7

18 an account of Indian National
Congress's support to the working-class
movemeant.

(2) The passage is a crtique of Gandhi's

role in Indian movement for
independence.

(3) The passage hails the role of Gandhi in
India's freedom movement.

(4) The author is neutral on Gandhi's role in
India's freedom movement.

101. The change that the Gandhlan movement
brought among the Indian masses was

Mﬂyﬂhﬂimk‘-ﬂl (2) Physical
(3) Cultural (4) Technological
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Q.No. 102 to 106 : Read the following passage
carefully and answer the questions given below.
Unveiling a mini-Budget of sorts in the middie of the

financial year, the Goods and Services Tax Councli
has announced a reduction in the tax rates for over
eighty five goods. The applicable indirect tax rates
On consumer durables such as television sets,
washing machines and refrigerators, along with a
dozen other products, have been slashed from
wenty-eight per cent to eighteen per cent. The tax
rﬁﬁ%ﬁm“mmw friéndly fuel cell vehicles
has been reduced from twenty-sight per cent to
twelve per cent, and the compensation cess levied
on them dropped. This leaves [ust about thirty-five
products, Including tobacco, automobiles and

cement, in the highest tax slab of the GST structure.

Rakhis without seml-precious stones, as well as
B‘-EI":-_I-H_W napkins that attracted twelve per cent GST,
have been exempted from the ‘tax altogethier.
Several other products have been placed in lower
tax slabs, including those from employment-
Intensive sectors such as carpets and handicrafts.
On the services front, too, there are
important tweaks and  clarifications. Overall,
Industry and consumers may consider these rate
cuts, largsly on products and services of mass use,
as a stimulus to drive consumption ahead of the
festive season. Whichever way one looke at it, the
GE]‘ Council's 28" meeting has significantly altered
the course of the nearly 13-month-oid tax regime.
The actual impact of these changes on product
prices and consumption. demand will be visible
soon, but the government's confidence In such a
rate reduction gambit indicates it is now comfortable
with revenue yields from the GST.

Estimates of revenus losses from these rate cuts
vary widely,.but it's too early to worry about the
Impact on macro fiscal numbers. If implemented
well, the revenue lost could be offset by higher
consumption that may lead to more investments
over time. Moreover, improvements in compliance
can be expected from the Council's decision to

futher simplify paperwork for small and medium

enterprises. But there are two major concams. First,
40318 T

[ (1) 10%

§ince the new rates are to kick in from July 27,
companies may not have enough time to rework
pricing strategies and replace existing market
[Inventory, failing which they could face ant-
profiteering action. Second, members of the Councll
i have for the first time questioned its fu nctioning and
alleged that not all of the changes and rate cuts
| were placed on the agenda. For a tricky tax that Ig
still a work in progress, distrust between the Centre
{and the States would make further rationalisation
difficult. Such friction must be avoided in'a system
[in which the States have so. far worked
in tandem with the Centre.

{102. Which of the foliowing goods are exempted
from GST ?

(1) Carpsets

(2) Cement

| —=4="All Rakhis with precious stones

(4) (Sanitary napking

| 103.. What makes further rationalisation of QST
systam difficult ?

| (1) Lack of compliance

-Blistrust between the Centre and the
States

| (3) Complexity in tax structure

(4) Anti-profiteering action

f-_

|
104. What is the consequence
| GST rates from July 27t 7
1—Companles may not have enough time
to rework pricing strategies.

(2) Revenue from the taxes will be
| decreased.
(3) Simplified paperwork for smail and

medium enterprises.

f (4) Reduced conflict between Centre and
State.

of starting new

The Goods and Services Tax Council has
announced a reduction In the tax rates for
over goods,

(& 35

i (1) 32
«t4 28

(3) 85
The tax rate on environmentally friendly fuel
cell vehicles has been reduced to
(@) 28%
A 12%

(3) 18%
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Q.No. 107-111 : Read the following passage
carefully and answer the questions glven
below.

The world is now warmer than at aimost any time
since the end of the last ice age and. on prasant
trends, will continue to reach a record high for the
entire period since the dawn of civilisation, a study
has found. The study published in the jounal
"Sclence”, aims to give a global overview of Earth's
temperatures over the past Eleven ﬂ"luuaand three
hundred years - a relatively balmy period knawn as
the Holocene that began after the last major ice age
ended and encompasses all of recorded human
clvilization. Their data (compiled by studying such
things as Ice cores, fossils and ocean gediments)
looked back over a much longer era than previous
research, which went back 1,500 Years.

Sclentlsts say It Is further evidence that modem-day
global warming isn't natural, but the result of rising
carbon dioxide emisslons that have rapidly grown
since the Industrial Revolution began roughly Two
hundred and ﬂfty years ago. Sclentista say that if
mfmtnm were still governing the climate, the
Northern Hemisphere would probably be destined to
freeze over again in several thousand vears.
Instead, sclentists believe the enormoua Increase In
gresnhouse gases caused by industrialization will
almost certainly prevent that.

Shaun Marcott, a geologist at Gmgon State
Unlwrslty. says glahnl temperatures are warmer
than about 75 percent of anything we've seen over
the last Eleven thousand years or 80." The other way
to look at that.is, 25 percent of the time since the last
ice age, it's been warmer than now. It's taken just
hundred years for the average temperature to
change by 1.3 degrees, when It took 5,000 years to
do that before. By the end of the century, climate
warming models predict an additional increase of 2
to 11.5 degrees, due to large quantities of carbon
emissions, the study noted.

40318
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107. In 100 years, what Is the change in the
average temperaturs ?

~ (1) 115degrees  (2) 11.3 degrees
(31 1.3degrees () 2 degrees

| 108. When did the Holocene begin ?

(1) Before the major ice Age

| () Before the Industrlal Revolution
(3) After the Industrial Revolution

A8¥ After the major lt;;B Age

109, Additional increase of tahparamr?a I8 due to
(1) hydrogen emissions

_{2) “earbon emissions
(3). fossils
(4) Ice age

Iﬂn. What was the data for the research study

based on ?
' (1) A global overview of earth's
I temperature.

(2) Records of temperature in the northemn
| Hemisphere.

{3y Analysis of ice cores, fosslls and ocean

| 2 sediments.

(4) Number of storms and ocean currents,

The earth's temperature has Increased
quickly since

(1) 1500 years ago

(2) The Holocene

| A The Industrial revolution

l (4) The Northern hamlapharq

,111.
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1a.

Each of the following questions comprise of a
statement and two Conclusions | and II.
Choose the correct alternative from the given
options.

Statement : Parents have prepared to pay
any price for an elite education to their
children.

Concluslons :
l.  All parents these days are very well off.

Il.  Parents have an obsessiva passion for a
perfect development of their children
through good education,

(1) Neither | nor Il follows.

(2) Only conelusion | follows.

(3) Only concluslon Ii follows.

(4) Elther | or Il follows.

S0t DS PG 2.8 (HELS, Bodk

Soprey o, 208 virord
NS (Ersir) ASrR) SFSed.

B80S : SDdodhen -8 e
WSS D TER Do S8
BOOBTAZA YO ATy &b,
Soyoren :

L &8 $Dsoo0&Er ©8508
SedSoeheny

O od D T 5o 0 VON
DOFQOT @ Tabres)
SHHD S$HSOIHO HE HAY0O.

(1) LI 8077 8580159,
(2) 18030 SMS$FHh ©HHO0A.

g 80750 S| 890008,
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(4) 180T 80780 ©HHONAD.
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|113. Eachofthe following questions comprise of a

statement and two Conclusions | and |l
Choose the correct afternative from the given
options. '

Statement : Whenever there is a match
between India and Pakistan, Mr. Acharyulu
takes leave from his office. Mr. Anhuryulu is
In office today.

Conclusions :

l.  There is no match between India and
Pakistan today.

Il.  Mr. Acharyulu always goes to his office
axcept on india-Pakistan match days.

(1) Neither ! nor I follows.

(2) Only conclusion | follows.

(3) Only conclusion Il follows.

(4) Either! or Il follows.

805 2% (H1)S 28 DS, Bod
SO TED A0, AN SSroad
NDA [NEPST) AITR) SFS0d.
DEOA : 2708, riTIo DL A
6L 2007 Boden EHOH VoY
TR, soden & Sy ehhd
&rar) .

dovmren

L 2708, FEYSo ¢ & G eb
8.

I 208 8PS 05 eé 2008

Taren s
BHNH Ivecd,

(1) LI SORren 85580159,
(2) 180980 SMSH ©DI0N0A.
(B) 180780 S7S$TH ®HHY0A.

ardey a

,./('ﬂ/I/E!n' I S080 8HJI8NoA.
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114, Each of the following questions comprise of a

staterment and two Courses of action | and Il
Choosa tha correct alternative from the given
options.

Statement : The availability of imported fruits
has increased In the indigenous market and
&0 the demand for indigenous fruits has been
decreased.

Courses of Action :

. To help the indigenous producers of
fruits, the government should impose
high import duty on these frults, even if
these are not good quality.

l. The fruit vendors should stop selling
imported fruits so that the demand for
Indigenous fruits would be Increased.

(1) Both I and Il follow
(2) Only | follows -

(3) Only Il follows

(4) Neither | nor Il follow

808 20N DS 28 DL, Bodk
2Ogen I IT ) on. 8l amw@‘
ODA |DErgdr) dira) $eoffdod. .
PGS : T SrDSes’ anda

TSy Dod s DOR, FRoH
Sods ATl $0od.

wigen:

I H20%H s 18crhHod HIaHHero
PE5, @ oD oW TN )8
DZDSL0 D SHDDHS DOSR)
S80S oD,

II. Vo8 ooty OhHe
Do B0d) DO &80
DODHJAHAO Jerd BWASSH HoBsd
Adroll Ddthéood.

(1) LI & edd8a"ow.

/,(a)/ I 5T 8HHENOS.
(3) I 3D 890008,
(4) LI e &Sd8oday.

115. Each of the following questions comprise of a

statement and two Conclusions | and Il
Choose the correct alternative from the given

options.

Statement : A boss asked three managers to

gither submit thelr resignations by the next
day or face termination orders from service.

Two of them had submitted their resignations
by that evening.

Conclusiona :

|. The next day, third manager would alsc
rasign.

. The boss would terminate his sarvices
next day.

(1) Neither i nor Il follows.
(2} Only conclusion | follows.
(3) Only conclusion Il follows.
(4). Either | or Il follows.

808 ADIS (DAY 8 (5L, Bok
STTED STIOD. NI ASrred
RD A (DB CIrR) AN 0G. '

PEOLS : 2.5 8o58 sdhaa FarsS'm
AP DIF20x odadr Tolron
BENE AafiioS oD VWS
addged SoATILN  SWOSR
Ty, &8 & o= 05
AR T AT AT D80 .

SO :

L B T Srdsd JI=0 oo
ol T Ty, '

I O30 HHHS GFrd ®dd)

a0’ Hod .

,m/l I S0 R BADB0DJ.

(2) 1807780 S ®D00N0D.
(3) II &80 SPSTH eHH8)08.

@) I8l BUYS0 030908,
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116.

Each of the following questions comprise of a
statement and two Courses of action | and Il
Choose the correct alternative from the given
options.

Statement : There are more than 200

villages in the hill area of Bihar which are |

severely damaged due to cyclone and it
caused a burden on rehabllitation work.

Caursas of Actlon -

|. Paopla of hill araa should be shifted to other
safer places. -

Il. State Government should ask for more
financial support  from Central
Government,

(1) Both 1 and Il follow

(2) Only | foliows

(3) Only I follows

(4) MNeither | nor li follow

80 adyd %S of (H¥0d, Dot
S8se0 I, I 4T o0, 8D ddred
QBN [HEr STy dirR), EcofSod.

DS : DBS'D Fod Frosos 200
500 D508 mSren &S sdeom
S lor T8I0 SO JSTTH
SO Sare D grdo Ko,

sz

. Fod |roé HDaodh asd ol
romroh $idHord,

L O OZhesso, Toltd |Hgbers)
2008 efE JFoho Ford,

(’g,)'fﬁ &0 WO oW.
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(2) 3™ HIBN0A.
(3) MAMSEH DI,
(4) LO e &@5500159.

117. Each of the following questions comprise of a

statement and two Courses of action | and II.
Choose the correct alternative from the glven
options.

Statement : In one of the worst accidents on
a railway level crossing fifty people died when
a bus carrying them collided with a running
train.

Courses of Actlen ;-

I.  The train driver should be immediately
suspended for nagligance on his part.

ll.  The driver of the bus ghould be punished
for negligence on his part.

(1) Both | and IMfollow

(2) Only I foliows

(3) Only il follows

(4) WNaither | nor |l follow

806 ADYS 1HNG 28 (HELS, Bok
S8 1, T ) o, [0S ddrgard
N0 (REPLaTy ASrR) Suffbod.
D¥S : DT 1sholl & =008 a8
©s08 3G |DSrSoS, |HArERYS)
Dend 280) @ TId0 o, s
DSBS 50 $008 o
wigen:

L & DS A8E 0 SrodSotusy
Bexn (BSER 8% 00 Sofod.

O & NG APL50 oS0
i) |1BS00 28 oD,

LI o) 80008 0D,
[ 573D 890000,

(1
(2)

A I M D BDHION0B.

(4) LI & @000
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(1 TRriSe 308050 T 275 D YOTT DD,

<
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Each of the following questions comprise of a

statement and two Assumptions | and Il.

Choose the correct alternative from the given
options.

Statement : Training must be given to all the

employees for increasing productivity and
profitabiiity.

Assumptions :

. Training is an essential component of
productivity.

Il. Profitability and productivity are
supplementary to each other.

(1) Both | and Il are implicit.

(2) Only assumption | is implicit,

(3) Only assumption Il is implicit.

(4) Either | or Il is implicit.

808 AN (D100 a8 1HELSED, Dok
Ao I, I O/ ymryow. 8o IS

DS BBS  |Deisr S
SORS0A.
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RS 05T,
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(2) 12755 Ar@hadh DD 0TI SO,
(3) I Sredtdh QD YoTT R,
(4) 1375 B I 27505 AR OB IA.

119. Each of the following questions comprise of a

statement and two Assumptions | and Il
Choose the correct alternative from the given
options.

Statement: In the last year, Osmania
University has launched a number of
Innovative courses for the better future of its

students,

Assumptions :
. These courses may attract students.

ll. Osmania University is conscious about
the future of students.

(1) Bothl and Il are implicit.

(2) Only assumption | is implicit.

(3) Only assumption Il is implicit.

(4) Either | or Il is implicit.
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120.

The foliowing question consists of a
gtatement followed by two arguments | and Il.
Choose the correct alternative from the given
options.

Statement : Should the strikes be banned
legally in India 7

Arguments :

| Yes. Because strikes hamper production
and create arificial scarcity of essential
goods.

Il MNo. Because the workers will lose the right
of eaxprassion and would be subjected to
managerial debates. -

(1) Both | and Hl are strong.

(2) Only argument | is strong.

(3) Only argument |l is strong.

(4) Elther | or |l is strong.

808 @IS DS 2§ 1HELS, Bodk
To0en, I, I &I [N
ITETTY  ADS (DTS O
TR0,

DEOS o THoS ( PdaneR
N adord,
SEHoe :

I ®90. JOCHEOW, Men e 1B -

B2 d%, 5508 K09 LB
TESD SR Ow.

0. S, ohSoE), 50w Hgo T
TE0,0 FShSH0 SO8, Jogrs
3| SpEe sen 2rhEron.

(1) 1, I adSabend 2xedddada).

(2) 18 Srehsh aohod.
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(8T 00 B 11 A& DOPOA.
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121.

Each of the following questions comprise of a
statement and two Assumptions | and Il
Choose the correct alternative from the given
options.

Statement : |t is dasirable to put tha child in
school at the age of 5 or so.

Assumptions :

| At that age the child reaches appropriate
level of development and Is ready to learn.

I The schools do not admit children after six
years of age.

(1) Both | and Il are implicit.
(2) Only assumption | is implicit.
(3) Only assumption Il is implicit.
(4) Either ! or |l is implicit.

808 20 1NF¥1e0 o8 183N, Dot
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122. The following question consists of a |123, The following question consists of a

statement followed by two arguments | and 11,
Choose the correct altemative from the given
options.

Statement : Should we scrap the 'Public
Distribution System' in Indla ?

Arguments :

l.  Yes. Protectionism Is over, everyone
must get the bread on his/her own.

Il. Yes. The poor do not get any benefit

because of corruption,
(1) Neither I nor Il is strong.
(2) Only argument | is strong.
(3) Only argument Il is strong.
(4) Either ! or Il is strong.
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(2) TGOS A& 20od.
(B) OGS SMS3DH 20od.
4) 1768 Bor I 78S 0o,

statement followed by two arguments | and II.
Choose the correct alternative from the given

options.

Statement : Is paying heavy amount to

kidnappers of political figures, a proper
course of action ?

Arguments :
I Yes. The victims must be saved at all cost.

Il. No. It encourages the Kidnappers to
continue the blackmailing activities.

(1) Both ! and Il are strong.

(2) Only argument | is strong.

(3) _ Only argument Il is strong.

(4)~ Nelther I nor Il Is strong.
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124. From the following two statements, one is an

Assertion (A), and the second one is a
Heason (R). These statements can be true or
false. Choose the correct answear from the
given alternatives,

Assertion (A) :india is known as g
democratic country.

Reason (R) : India has its own constitution,

(1) Alsfalse but R is true.

(2) ButhAmﬂHaratruaandHiaﬂu

corroct explanation of A,

(3) EnmaandﬁamtrunbuiﬁiaﬂﬂTma |

correct explanation or A:
(4) Als true but R is false,
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125. From tha following two statements, one Is an

Assertion (A), and the second one I8 a
Reason (R). Thesge statements can be true or
false. Choose the correct answer from the
given aiternatives.

Assertlon (A) : Water is essential for life,

Reason (R) : It is formed using three parts of
nydrogen and one part of oxygen.

(1) Aisfalse but R Is trie.

(2) Both A and R are' true and R is the
correct explanation of A.

(3) EnmAmdFlaratruubutFllanTm-
Cormect explanation of A.

(4) /Als true but R is false.
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128.

130.
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&5,

LTV ?

Q 4) R
chair for 20% discount,
Had Rama got no discount, Rama wouid

have paid ¥ 350 more. How much did Rama
pay for the chair 7

O & 5830 20% QAR 085 T3y A,
o8 No

5080 8
(1) T1,400 (2) 22,100
(3 T1.750

What day will be
today Is Monday ?
(1) Sunday (2) Friday

(3) Monday (4) Waunasday

& Ja S0 WONILANE, &o Gy
Qod %Eﬁ S 8 & a0 &0.3é008 7
(1) «la8o LrHiE>rso

3) Flaso _ @) 2080

Find the correct number in the following in the
place of ‘7",

LTG50 (2) Do F0TONS DD

DORLD EKT0A.
13 8

Rama bought a new

the 81* day from today, it

(8pproximatsly) 2
(1) 20 em2(2) 15 cm2(3) 23 em2

&8 (80RO Ty ZH2sven 5 0.2, 8

N0, 8 0.6 esonad & (82h20
GQInE) Brerto does (o) ?

(1) 20 Ro0.Hy (@) 150.5¢

(3) 23 To (4) 18 o.by2

|

|
28

131.

@ (@A),

From the fellowing two Statements, one is an
Assartion (A), and the second one Ig a
Reason (R). These statements can be truas or
false. Chooge the correct answer from the
given alternativas -

Assertion (A) : |n India, the judiclary js
Independent of the executive
Reason (R)

A ls false but R [s trye.
Bamaandﬂarutruaandﬁlsmu
COrrect explanation of A

(3) BothAand R arg true but R is NOT the
explanation of A

Bodh, |HShameS® 5,508
DEDSS (A), DTES 5000 (R). 22
ORI TS, S5 TS5, 8oes ETAR
LOmsir) e’ %08 30 DS EFRR)
S0,
(OB (A) : arE8F 50" S Ta W
. e I STANTATIN
IS olSom DT,
»8%o (R) ; 5 Sgasad [Zhel 058
DETS  FEAS Qe Oay" R
(DT PEeS W
NarES0A,
(1) (A) SBSA s, (R) DBSH.
(R) &0 Bodhr N85 Bk (R,
(A) % 35BS D35es,
A): (R) &0 Bodr B30 58 Sdasy
" (R), (A) & B DSSen sveso,
(4) (A) 3B8&, (R) ODIE 5°¢%,

132. A 500 metres lon train with o kmﬁh spatﬁd
at is the

133.

72,150 Srareky

Crosses a bridge In 90 seéconds. W
length of the Dggua ?

m 2,150 m {2 1,500 m
3) 1,750m 4) 1,850m
500 &8 Y Ker 2. Ben Soesh

90 82b. Iros* 2,8 DOBID 90 REFeS*
od8, 8 JoBS rSToe 7
() 1,500 eYD

(3) 1.750 esH  (4) 1880 ey

The ratio between the Circumferences of g
Square and a cirgle is 7:11. What is the ratio
of areas of the square angd circle ?

28 3050, SIBINO StpToese

®aNSE, g WD,

DBV Frerssne ) DO 7

(1) 28:55(2) 7:22 (3) 22:77 49:88
Serles.D

;’aaﬁ;}doﬂ‘{m

%

4
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134. Rakesh ranks 15" in the class of 42 students
and there are 8 students celow Ralesh rank.
How many students are there between
Rakesh and Rajesh 7

42 HoH AP e 2.8 SSKAS En
QIEy T750%0 15, BN o305 S0t 8o
8 DOS ). O ERK, N8 g
D0 308 Der§then Ay 7

19 (2) 18 4) 18

138. Find the correct number in the following In the

SSreowds 04
A/B,C.,D E F, G o3 7 508 IR DD
O5BS Fhyew Fospiers D), T8,

SrEELAS), SEEY, SRS, Dakres |

a8 508 ssoge DEBYSHT . 0 158
2500 DS E5BS Sorben 2, deo,
BD,), DK Ar003, (7, Hivyerds oz ESvoes?
SOT  WIDBDTIH, TS sShn
argen Al 2es) SO esod) AR0 5D e

500y, Srden S&S%0 T, SD8) SAT 58 |

NAPE, 85 (7 SoKrers aRaddod F Fng)

SO oS E, Srigetty ssnsr S8 |

OO AJINE0D. 6 DAE) IE98r, Aoy

SOt AYIBB S, C Tty 2165 aHS F o>l |

VADET 65055 S06H WQRH%Es, B H#
C0ROMD, C 002 SoMbesdd BABGErss, Ae0
Sothd ansd 558 DETWE D INTANNTE L S
40318

136. Which subject is studied by G 7

(1) Computer Science (2) Commerce

- (3) Economics (4) Communication
Ca HPED LICDISIT) 0 7
(1) _SomieB 28y (2) =8y

<8 D5 (4) SSr0ENS

137.  Who is studying Computer Science 7
S0 DI DS EC0HEITY ) 7
MDD & A 3 E (4 C

138. Which of the following combinations of
colour - pergson and subject is correct ?

(1) Blue-D-Economics
(2) Blue-D-Mathematics

(3) Pink-F-History
(4) Orange-C-Commerce
& 1508 o4 oy ~ 38 - OPFO 2
NOQIMI0 HBE 7 |
(1) :ﬁﬂﬂ-ﬂ-ﬂ#ﬁ‘%})ﬁ,ﬁ
VOO-D-Sr 5588
o e
(4)) D00z-C-8)

138. Who'ie 8tudying Commerce ?

S%08 )0 a5t e & 7

M E @A @gc¢ (4) B
140.  Which of the followi ng is the group of females 7

1808 &' H RNTT80) Sy 7
(1)ABE (2) B,Q,F48T B,EF (4) AEF

141. Find the correct letters in the following in the

places of 7.

O 8% (7) dSocst 0TS DTS

@5 0O SHFS0A.

AD,H,N,VH,? ?

(N UvQ@ T2 'KU/?:M (4) V,N
142. Find the correct number In the following In the

place of ‘7,

L3150 (?) dSos A0S HBS
NOPL EwFSod,
2 11 .
o2
' L
(1) 56 () 36 (3) 68 (4) 46

143. Find the comect number in the following in the
place of ‘v,
WF)Q%0 (7) arsost oD )S HBS
KJQ&J;;E] Echffesod.

16 15
2-@4‘3 11-({?)-23
20

15 1

8 » 16

(1) 14 (2) 11 (3) 12 4) 10
Series-D
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144. Select a suitable figure from the four

145.

1486,

alternatives that would complete the figure
matrix,

Bod H¢rd) Hodrdo Fahorne N0
DTV, ($od AdIS  mrend
DB5e5r) e 0B 1H00S0A.
Problem Figures / 35 s Hare :

£ [ X%
=Q:|CD=’ '

Answer Figures / D3reees Heérewn :

(1) 4 (@ 1 (3) 2 (4) 3
Choose the alternative which Is closely
resembles the  mirror image of the given

(2 -(3) (4)

combination.

Bod adyd Jo&rso ok (wTe >
D8DorAE w8  SiSr  &od
(DB 5T Q) EDAS0A.
ANS43Q12

1. AUZAEQIS 2 SHDErBMA
3. CUAEMOST 4, ISOMEAUZ

(1) 4 @1 _® 2 w 3
Choose the figure which-ig different from the
rest.

1808 IS’ Dd) DSDEI0 OB 7

)r{;) ® © ©
D (@ A (3) B (4) C

147. Choose the figure which is different from the

rest.
1508 ¢365° Sy TS B8ro DA 7

| 148.  Eight boys are sitting around a circular table

1

150. P,Q,R, S T Uare seated in a stra
facing North. R is third to the right of

and drinking milk in their Oown separate
glasses with ID numbers 1 to 8. Boy-2 is
sitling between boy-6 and boy-7, boy-1 is
sitting between boy-8 and boy-5. Boy-3 is
sifting to the third left of boy-7 and boy-8 is
Sitting to the third right of boy-4, What Is the
position of boy-5 with respect to boy-3 7

(1) Third to left (2) Second to right
(3) Second to left (4) Third to right

1 DO 8 58550 hlod Dosew EDAYS 8
DO 2rendy 2.& DTGy 2O ey
SPDIN S0 TS S ren
BT ). 23 2PV B, 7S arend
eSseS, 15 arendy: 85, 58 arend
DB5S’ S ITIS 38 2rends 7.5
2TeNAS D8y SardS oSt 83
AFEDA, 48 A8 BADE Sards
Y08’ e )M, 53 ALV VI N
2B Spars ¥4 Ay ?
(1)703862 (D8 & FrSocs’
) 198 Do& o

DB 05 To& sossS
4) 308 0¥ Srd Frdos

149. Study the following arrangement of letters

and characters carefully and answer the
question.
#EEGElL'.«'EiHﬁ«‘}%tt?.'lI:IIFH:.EEJ*.‘£:I1"r
VTU2sw

If B% = LK, what is equal to AB ?

8o& ads wioe D8O wHBED
THST  oPohso  TD, 1945
AATETS0 o ahoA.
#6BG@IL73HA%ODFKESJQ1*
VTU28 W

B% = LK @0na A 8 T8 H3r36 ?

(1) Q8 (2 EK (3) OF (4) KF

ht line
and Q
Sits second to the right of R. S sits to the
immediate right of P, Which of the following
represents the Paira of persons Sitting exactly
in the middie of the line ?

P, Q. R S, T, U a¥ 3605 aresso
AR Ay Hrd )&, R, U sy,

- S0 (D58 rds TS0 Q, R & HA

D50 Bo& PIoS" srepyorysh. P 8
DHT HABH S Srdyamd. (208
T3S’ &) 20y SHHeS AR Yol N TaTI0 )
S5 ) % ?

() SR @) sa_@Ua @ as

Series-D



10,

11.

12.

13.

14.

15.

Please get the signature of the Invigilator affixed
In the space provided in the Answer Sheet. An

Answer Sheet without the signature of the

Invigilator will be invalidated, Candidate should
sign in the space provided on the OMR Answer

Sheet.

Rough work shnuld. be done only in the space

provided for that purpose in the Question Paper
Booklet. No loose sheet of paper will be allowed
into the Examination hall.

Do not mark answer choices on the Question
Booklet. Violation of this will be viewed seriously.

In case of any discrepancy between English and
Telugu Versions of the questions (in Bilingual
Paper), English Version of the guestion shall be
treated as final.

Use of Calculators. Mathematical Tables, Log
Books, Pagers, Cell Phones or any other electronic
gadgets is strictly prohibited.

The candidate should write the Booklel Series and

Sign in the space provided in the Nominal Rolls |

while ensuring the Bio-data printed against his/

her name is correct.

No candidate should leave the examination hall
until completion of examination time.

Before leaving the examination hall, the candidate
should handover the OMR Answer Sheet to the

Invigilator, falling which action will be taken for
malpractice.

8. AATER J@od’ Eeronodnds Hoos’ al@BLE
So850 BuS'od. Fedel Sovso B SarerR
S¥o Swropodo Dobodith. eiff Yo OMR
RIEes 388" Teronods Foos’ smem
Bodito Doted.

SEnsigod” Seranods geod® Imed gy 30
DaHBB. 206 KOS e Syo, BirerS SEnd
83y 0 280 TNO0 CRDIOBES.

10 577 SEred’ SSrormrald KEDgEe Ao
S0riedose,

|11, 8 o> (S Bo-wons @o Bk, AN,

s B &R 0N RSE a30ds SHe
S $0KES"S BroSethi.

12. 98¢ 106" wdwdes, Sresrded Swdy, of
w8y, Dby, bf 5y do O ey :luLtg:JE
SRDOD e¥Eraosse Mo

13. 728 &S Swoswdis i S§ne disoren
ROELISD GV, So58 v Blinds
(PEmSEo ding), nbh% s 58 & e
Srovosndd yood® oob Soito Jatrd.

14. 304 grgahy S5O D et eghd o 36¢ KAD
DG HTVE B oNLED.

15. 20§ esdoditio 38K KA Hod nabith 3 Snoth
PO ogEp OMR J5rod SiIg7d) ad@dLbn
EHDIOM $HN0D Iend. 80T wadD 5rd 8
Sots wtsgen Ho8'exii.

(Continued on back cover page.)
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16. Candidates are permitted to take away the Question
Paper with them after completion of the exam.

17. The script will be invalidated, if the candidate :

(i)  Writes the Hall Ticket No. in any other place

of OMR sheet, except in the space provided
for the purpose.

(li) Writes irrelevant matter, including the
religlous symbols, words, prayers or any
communication whatsoever, in any place of
the OMR Answer Sheet.

(iil) Uses other than Blue/Black Ball Point Pen
to darken the circles.

(iv) Forgetting to bubble the Test Booklet Series
or bubbling multiple Test Booklet Series

Codes or Hall Ticket No. other than allotted
to him/her. |

(v} Wrong/erroneous/incomplete bubbling of
circles or using ¥ or X in the circles.

{(vi) Using of whitener on the Answer Sheet.

(vii) If attempts any type of tampering (rubbing
the circles with chalk powder/scratching
the circles with razors etc.) on the OMR
Answer Sheet.

(viii) Adopts any method of malpractice.

18. No correspondence will be entertalned in this
matter by the Commission, if the Answer Sheet of
the candidate is invalidated/rejected due to the
above reasons.

19. The digital copy of OMR Answer Sheets will be
made available in the Commission’s website
immediately after completion of the Image
Scanning.

16.58) elostio Sw SErd) eghithen 85 ok

BED eHSidy,.

17. e.¥ 025D 800 2 S0 Froydisid edd SErer

S|go SrorgosNo Babextis.

(1) OMR RBIrgrs JH@oD FGefBel Sowthan
o8 Seronods Food’ 55 O 388 Foos®
Traae, |

() 20 dr o dowogo o Jdano,
G0 | DS JoN0F WK, TP, FrHad
0 O 300 DAPTO T WD JHOP
g SIRTOWT: §

(i) Symom Jo3erI8 ap/gs ord owoes
DN O S ) BT DRSO ADAPACIBIR,

(iv) e85 BBH o 6 G exfjol Sadesc
OO0 Sor 2.5 577 doyps eoSoe
6H0W 0, B I ¢35eT Sonthid S
ol Tund,

(V) QRIFES DSOP IO SDp /
esorgorr Jodss 85 v dor X Sok!
e HEpes’ AdSS

(Vi) 0S2o8 Sod® 8y bov (Iend)s:
SSTrAONST,

(Vi) Birgrd Sop Symross Tlod 2EbE
Sogievo, FE& Acbo Joed U0

0 dStaond
(vill) © 250% 38 @30 SPHeD eSecdodSd

18. D 9 SEROSEIRI Seiho Tng,SEreT SEre
Sorerioso Sanetdon /6 Sobndr, &

3N0E° EWRSSE SIS JoEHdoDeL,
ODIHIOILED.

19, 5050 &0 0G0 ©gEEHe OMR Sargrs S@ve
Dy, S80S She, Fd IPof wons Dot
52055 e 2458 eotherind® dotetoi.
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